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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2015 C L«X, 2016 
%UÔX›◊Tˆ ( Economics ) 

B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

%rÙ] Yy ( 8th Paper : Computer Applications in 
Economics & Research Methodology ) 

a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 
 

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) ÊY“ÁG–Á◊]e \ˆÁbÁ [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? ÊY“ÁG–Á] 

y‘]TˆÁ◊_EıÁ ◊Eı TˆÁ [˝SÔXÁ EıÃ[˝”X* Â[˝◊aEı ÊY“ÁG–Á◊]e 

\ˆÁbÁ„Tˆ Â^ ÂEıÁ„XÁ AEı◊ªRÙO ÊY“ÁG–Á] ◊_„F TˆÁ 

Zı_ÁZı_ac˜ [˝ÓÁFÓÁ EıÃ[˝”X* 8 + 12  

 (F) ◊Eı ◊Eı =„ï„`Ó TˆUÓ\ˆÁâ¯ÁÃ[˝ ÈTˆ◊Ã[˝ EıÃ[˝Á c˜Ã^ ? TˆUÓ- 

\ˆÁâ¯ÁÃ[˝ ÿëˆ◊X\ˆ¤Ã[˝ c˜[˝ÁÃ[˝ Zı„_ ◊Eı ◊Eı a«◊[˝W˝Á YÁCÃ^Á   

^ÁÃ^ ? TˆUÓ\ˆÁâ¯Á„Ã[˝Ã[˝ Y“W˝ÁX È[˝◊`rÙÓ ◊Eı ? 4 + 8 + 8 

 (G) Y◊Ã[˝aeFÓÁX aÁW˝ÁÃ[˝STˆ EıTˆ Y“EıÁÃ[˝ C ◊Eı ◊Eı ? 

=VÁc˜Ã[˝Sac˜ [˝ÓÁFÓÁ EıÃ[˝”X* %Á‹ôˆL¤Á◊TˆEı [˝Á◊S„LÓÃ[˝ 

Âl˘‰y AEı◊ªRÙO ÂV„`Ã[˝ aÃ[˝EıÁÃ[˝ ◊Eı ◊Eı ◊[˝b„Ã^Ã[˝ =YÃ[˝ 

Y◊Ã[˝aeFÓÁX Ã[˝Á„F ? \ˆÁÃ[˝Tˆ[˝„bÔÃ[˝ ÂGÏS Y◊Ã[˝aeFÓÁ„XÃ[˝ 

Y“W˝ÁX =dam◊_ a+„EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X* 12 + 8 

 (H) Y…[˝ÔÁX«]Á„XÃ[˝ Y“„Ã^ÁLX›Ã^TˆÁ =‰{F EıÃ[˝”X* AEı◊ªRÙO 

a◊PˆEı Y…[˝ÔÁX«]ÁX Yà˘◊TˆÃ[˝ È[˝◊`rÙÓm◊_ ◊Eı ? 

Y◊Ã[˝aeFÓÁX Yà˘◊TˆÃ[˝ ]ÁW˝Ó„] ◊Eı\ˆÁ„[˝ Y…[˝ÔÁX«]ÁX   

aïˆ[˝ %Á„_ÁªJÙXÁ EıÃ[˝”X* 4 + 8 + 8 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) Eı◊+=ªRÙOÁ„Ã[˝Ã[˝ ◊[˝◊\ˆ~ input A[˝e output ^‹óˆÁe„`Ã[˝ 

Y“„Ã^ÁLX›Ã^TˆÁ C [˝Ó[˝c˜Á◊Ã[˝Eı =Y„^Á◊GTˆÁ a+„EÔı 

%Á„_ÁªJÙXÁ EıÃ[˝”X* [˝Tˆ¤]ÁX %UÔÍX◊TˆEı G„[˝bSÁÃ^ 

Eı◊+=ªRÙOÁ„Ã[˝Ã[˝ \…ˆ◊]EıÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 8 + 4 

(F) %YÁ„Ã[˝◊ªRÙOe ◊a‰∫RÙO] ◊Eı ? DOS A[˝e WINDOWS 

a+„EÔı T«ˆ_XÁ]…_Eı %Á„_ÁªJÙXÁ EıÃ[˝”X* 4 + 8 
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(G) Electronic Spreadsheet ◊Eı A[˝e ÂEıX A◊ªRÙO 

Y“„Ã^ÁLX ? Worksheet Formatting-AÃ[˝ ◊[˝ÿôˆÁ◊Ã[˝Tˆ 

◊[˝[˝Ã[˝S ◊VX* Excel-A ◊[˝◊\ˆ~ sheet-AÃ[˝ ]ÁX 

ÂÃ[˝FÁ◊ªJÙ‰yÃ[˝ %ÁEıÁ„Ã[˝ ◊Eı\ˆÁ„[˝ =YÿöˆÁYXÁ EıÃ[˝Á ^ÁÃ^ ?  

  8 + 4 

(H) ]…_W˝X ◊[˝◊X„Ã^Á„GÃ[˝ aÁW˝ÁÃ[˝S ◊X[˝ÔÁªJÙX ÂEıÏ`_m◊_Ã[˝ 

[˝SÔXÁ ◊VX* X›ªRÀÙO [˝Tˆ¤]ÁX Y“E ıTˆ ]…„_ÓÃ[˝ Y“„Ã^ÁLX›Ã^TˆÁ 

◊Eı ? 6 + 6 

(I¯) ÈÃ[˝◊FEı ÊY“ÁG–Á◊]e ◊Eı ? AEı◊ªRÙO [˝Áÿôˆ[˝ a]aÓÁ„Eı ÈÃ[˝◊FEı 

ÊY“ÁG–Á◊]e-A ◊Eı\ˆÁ„[˝ Y◊Ã[˝STˆ EıÃ[˝Á ^ÁÃ^ ? Â_F◊ªJÙ‰yÃ[˝ 

aÁc˜Á„^Ó ◊Eı\ˆÁ„[˝ ÈÃ[˝◊FEı ÊY“ÁG–Á◊]e a]aÓÁ„Eı a]ÁW˝ÁX 

EıÃ[˝Á ^ÁÃ^ ? 6 + 6 

(ªªJÙ˜) a+EÔı^«N˛ TˆUÓ\ˆÁâ¯ÁÃ[˝ ◊Eı ? a+„EÔıÃ[˝ 

Y“EıÁÃ[˝„\ˆVm◊_ [˝SÔXÁ EıÃ[˝”X* Y“ÁU◊]Eı a…y C 

[˝◊c˜Ã[˝ÁGTˆ a…‰yÃ[˝ ]„W˝Ó YÁUÔEıÓ ◊Eı ? 6 + 6  

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) Eı◊+=ªRÙOÁÃ[˝ ◊Eı ? Eı◊+=ªRÙOÁ„Ã[˝Ã[˝ EıÁ^ÔÁ[˝_› %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 2 + 4 

(F) Eı]Á≥Qˆ ◊Eı ? Eı]Á≥Qˆ EıTˆ Y“EıÁÃ[˝ A[˝e ◊Eı ◊Eı ? [˝ÓÁªJÙ 

Eı]Á≥Qˆ EıÁ„Eı [˝„_ =VÁc˜Ã[˝Sac˜ [˝ÓÁFÓÁ EıÃ[˝”X* 

  2 + 2 + 2 

(G) YÁUÔEıÓ ◊XSÔÃ^ EıÃ[˝”X : 3 × 2 = 6 

(i) RAM A[˝e ROM 

(ii) aeG–Ác˜Eı A[˝e GSEı* 

(H) Word Processing [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ?           

MS-Word-A ÂEıÁ„XÁ XT«ˆX ZıÁc˜O_ F«_„Tˆ ÂG„_ ◊Eı 

◊Eı YV„l˘Y _Á„G TˆÁ [˝«◊Mı„Ã^ [˝_«X* 2 + 4 

(I¯) ◊Ã[˝„YÁªRÙO¤ EıFX [˝Ó[˝c˜ÁÃ[˝ EıÃ[˝Á c˜Ã^ ? ◊Ã[˝„YÁªRÙO¤ ÈTˆ◊Ã[˝ EıÃ[˝ÁÃ[˝ 

W˝ÁYm◊_ ◊Eı ◊Eı ? 2 + 4 

(ªJÙ) Y◊Ã[˝aeFÓÁX EıÁ„Eı [˝„_ ? a]◊rÙGTˆ %UÔX›◊Tˆ„Tˆ 

Y◊Ã[˝aeFÓÁ„XÃ[˝ \…ˆ◊]EıÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 2 + 4  

(ªK˜) Access ◊Eı ? AÃ[˝ ]…_ =YÁVÁXm◊_ ◊Eı ◊Eı %Á„_ÁªJÙXÁ 

EıÃ[˝”X* aÁÃ[˝S› ÈTˆ◊Ã[˝Ã[˝ Yà˘◊Tˆ ◊Eı ? 2 + 4 

(L) Eı◊+=ªRÙOÁ„Ã[˝Ã[˝ a[˝‰ªJÙ„Ã^ mÃ[˝”±ºˆY…SÔ %e` ◊Eı ? QˆªRÙO 

]ÓÁ◊ÆœÙj ◊Y“≥RÙOÁÃ[˝ C Â_LÁÃ[˝ ◊Y“≥RÙOÁ„Ã[˝Ã[˝ ]„W˝Ó YÁUÔEıÓ 

◊XSÔÃ^ EıÃ[˝”X* 3 + 3 

 
 
 
 
 
 
 
 



 EEC-VIII (UT-182/16) EEC-VIII (UT-182/16) 2  

B.A.-7158-G   [ Turn over B.A.-7158-G  

English Version 
 
 

1. Answer any two questions : 20 × 2 = 40 

(a) What is meant by programming language ? 

Describe a program flow chart. Write a 

program in BASIC programming language 

and explain it with results. 8 + 12  

(b) What are the objectives of creating a 

database ? What are the advantages of 

independence of database ? What are the 

main features of a database ? 4 + 8 + 8 

(c) How many types of statistical data are there 

and what are they ? Explain giving 

examples. In case of International trade 

what are the factors on which statistical 

data are collected by the government ? 

Discuss what are the main sources of 
collecting statistical secondary data in 

India. 12 + 8   

(d) Mention the necessity of estimation. What 

are the features of a correct estimation 

process ? Discuss how estimation is 

possible by statistical method. 4 + 8 + 8 

2. Answer any three questions  : 12 × 3 = 36 

(a) Discuss the necessity and utility of the 
various input and output devices of a 
computer. Discuss the role of computer in 
present economic research. 8 + 4  

(b) What is operating system ? Give a 
comparative discussion between DOS and 
WINDOWS. 4 + 8  

(c) What is electronic spreadsheet and why is 
it necessary ? Give a detailed description of 
worksheet formatting. How can the values 
of different sheets be presented in Excel ? 

  8 + 4 

(d) Describe the criteria of choice that should 
be considered for capital investment.    
What is the necessity of Net Present Value 
(NPV) ? 6 + 6  

(e) What is linear programming ? How can a 
practical problem be converted into linear 
programming ? How can a problem of linear 
programming be solved graphically ? 6 + 6 

(f) What is relational database ? Describe the 
various forms of relations. Distinguish 
between Primary key and Foreign key. 6 + 6   
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3. Answer any four questions  : 6 × 4 = 24 

(a) What is a computer ? Discuss the functions 
of a computer. 2 + 4  

(b) What is command ? How many types of 
command are there and what are they ? 
Explain what do you mean by Batch 
command with examples. 2 + 2 + 2  

(c) Distinguish between the following : 3 × 2 = 6 

(i) RAM and ROM 

(ii) Accumulator and Counter. 

(d) What is meant by word processing ? 
Explain the steps that should be taken to 
open a new file in MS-Word. 2 + 4 

(e) When is Report used ? What are the steps 
taken to create a Report ? 2 + 4 

(f) What is statistical data ? Discuss the role 
of statistical data in macro-economy. 2 + 4  

(g) What is Access ? Discuss the main 
components of Access. Explain the process 
of creating a table. 2 + 4 

(h) Which is the most important part of a 
computer ? Distinguish between a Dot 
Matrix printer and a Laser printer. 3 + 3 

    


